MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

CHALLENGE

Name:

Time: Score:

1) —0.08 X 273 =
) 2 X (—4.71) =

573 0.0005 x 0.257 =
1) 0.07 X 34.5 =

575) (0.011 x 0.0268 =
576 0.0009 x 425 =
0.7 x (—=0.09) =
78 —0.08 X 7.4 =

519) 8 X 4.96 =

5800 —(0.0007 x 0.48 =
1) 0.1 X 0.0467 =
w2 () x (—35) =

553 (0.1 X 0.0155 =
) —0.6 x (—0.477) =

555 (0.009 x 0.0405 =
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600)

0.7 x 0.0097 =
—0.007 x (—221) =
—0.004 x (—49.7) =
0.07 x (—0.0115) =
0 x (—0.399) =

0.9 x 340 =

0.0007 x 5.4 =
0.006 x 0.0394 =
—0.0003 x (—194) =
—0.05 x (—4.18) =
0 x (—0.461) =
0.003 x (—0.0266) =
3x19.3 =

0.08 x (—0.0084) =

0.2 x (—6.4) =
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